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Describe the followings :-
(1) End milling
(i) Buffing and polishing

=1 &1 9uis & -
(i) s-s fafeT
(i) 9% v uffaflRrT

9. Describe the grinding wheel composition and
designation. 6

YTSATST LIl BT dHIFeE AdR sforHzE
BT Ui &Y |

OR(3721d)

Estimate time to drill a hole of 15 mm diameter in
a mild steel plate of 60 mm thickness. Take
cutting speed 40 mm/min & feed 15 mm/rev.

I ST B, 60 HLAL SIS BT g T
gedl ¥ 15 HH. &1 BT B 2 | BTt
40 HHA. /fEe 3k 15 NA. /RaiqeE fvs
2|

N4076 1625403

2019(Even)

Time : 3Hrs. Sem. IV-M. E
Prod. Process
Full Marks :70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question

carries 4 marks.

qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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What is indexing ? Write their types. 4

SASTRT T 8 ? 39D UPR Bl ford |
OR(372r1an)

For drilling a hole of 20 mm diameter in a
workpiece of 50 mm thickness. If the cutting
speed is 10 mm/min. Find the cutting speed of
drill.

TP Giid & dArers 50 A 2 R 20
M fy sEfiex &1 g & gRT 8l @ forw

IR HfeT fa 10 NH /e & o fga
&1 feT Ty Frard |

Write the advantages of gear hobbing. 4
iR gIfaT &1 a9 &1 fod |
OR(3121d1)

What is plastic ? Write their types.
WTETd T BIdl & ? $9d YR &l ford |

N4076

(i)

(iif)

(iii)

(iv)

3 1625403

<ol @I 98 W Sl <ol slelsY H
g=edl 8 S99 ®ded B |

(31 w4

(@) o®

SIELE]

() 949

Tool life is affected mainly with
(a) Feed

(b) Depth of cut

(c) Coolant

(d) Cutting speed

Arbor is the part of .............
(a) Shaper

(b) Lathe

(c) Milling machine

(d) Slotter
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Answer all Five Questions.

xx) fgo ATRIA ¥ HfeST T S
........... ¥ AOd 2
(31) #. /e
(@) e /+.
(W) Qb-s /.
(@) @13 Tl

GROUPB

4x5 =20

9l ufg gl & SR o

2.

What is tool signature of lathe machine ?
Describe it. 4

o1 739 &1 <o REMER @@ ghar 2
<d RAF=R @ IR 4 ford |

OR(3721d)

If the conicity (k) is 51—0, the length of taper 250
mm and the large diameter 50 mm. Find the small
diameter.

IR diffafe (k) % 2, SR NS
250 HIHL. AR g1 SrEfex 50 HA.
Bl sefiex fard |

N4076

(vi)

(vii)

(vii)

(viii)

f$o de T8 HRIT IR ...

(ar) efered HIvr BT @

@) fora o1 = 2

(@) foraa &1 gH oS 2
(?) @13 =&

A twist drill is a

(a) Front cutting tool

(b) Side cutting tool

(c) End cutting tool

(d) Front and side cutting tool

U$h cdie fgd ®ar oar @
(31) wHA BfewT <o

(@) brgs ST T

(|) I »fET <A

(]) wrA 3R wIgs SfET <A

Honing operation is used to
(a) Harden surface

(b) Finish surface

(¢) Indexing surface

(d) None of these

1625403
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(xvi)

(xvii)

(xvii)

(xviii)

10 N4076

TH00—HIS &T BT ... 2
(31) UNRM &I 91 BT

(d) YR &7 3= I

(@) afisa s 8T

(?) ®1g

A twist drill has ........ccoeevveeieennnen. flutes.
(a) One

(b) Two

(c) Three

(d) None of these

(@1) t»

@)

(&)

(@) ®Is T8

Chisel edge of a twist drill is also
called .....ccceeiienenne

(a) Dead centre

(b) Live centre

(c) Axis

(d) None of these

N4076

x)

(xi)

(xi)

(xii)

7 1625403

ST fIRR &1 SauTeA ghar & |
(a1) faferar

(@) o

(|) =sifawr

(]) wizf¥T

The structure of a grinding wheel is denoted
by a number from

(a)lto5

(b)1to8

(c)lto15

(d) 1to25

YTAfST &Il BT 9-1de Bl A&7 A
yRa s 2|

@195

@198

(@) 19 15

()19 25

Grinding 1S a .....c.ccevvennennne operation.
(a) Dressing

(b) Surface finishing

(c) Forming

(d) Facing
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10.

11.

Write short notes on followings : 6
(i) Blow moulding
(i1) Injection moulding

frfaRaa wr wfdra fewoft ford |
(i) s H"fafST
(i) SASIaeE AiAfST

OR(3721d)

Find the time required for one complete cut on a
piece of workpiece 300 mm long and 50 mm in
diameter. The cutting speed is 30 m/min and feed
is 0.5 mm/rev.

e Ui de o fay @ Fard—<9 Sl
&1 T8 300 HIHL 3R @ 50 HAL 2
&fET wfa 30 H/fiFe @ik 05 HA/
Rarge fbs a1

What are different indexing methods ? What are
the simple indexing ? Describe.

=1 AT Aus |1 2 ? e 6
SASHRT FT 8 ? 9uiF B |

P.T.O
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10.

11.

Write short notes on followings : 6
(1) Blow moulding
(i1) Injection moulding

frfaRaa w wfdra fewoft fore |
(i) =l HfAfST
(i) SASIaRE ArAfST

OR(3721d)

Find the time required for one complete cut on a
piece of workpiece 300 mm long and 50 mm in
diameter. The cutting speed is 30 m/min and feed
is 0.5 mm/rev.

TP Ui de @ fay @9 ffard—<e Sild
&1 oH T8 300 HIHL 3R @ 50 HAL 2
&feT wfa 30 H /fFe @ik 05 HA/
Rarge fbs 8

What are different indexing methods ? What are
the simple indexing ? Describe.

=1 AT Aus | 2 ? e 6
FASIIT FT © ? qUIT B |
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